20204 96 A 20204108 18R (H) 9E520% ~ 11B530%) (2H5R9109)) SRR IREARA - ®BRE
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
Bt ZaA—LZ 1 0 3 0 0 0 0 0 0 4 10 5
B BAT BOYS 0 1 0 3 2 5 0 2 x 13 14 1
MVPETE) | KERX 5EE |
I | | | | |
MVPEEF) | Lig&®X EEI
BEgF | RREx ok | -7 ] - [ F—rF ] \ \ |
BEF =% = 1-1 ER BR 5-8 g 88K 710 ARKRERE  8-13
HERF EH HRF 1-1 ERF 5-8
KW : RaA—LX
$TIE 2 1 2 3 4 5 6 7 8 9 10 11 12 13 14 HEEREEEIEIEE
1 FEA— | F% e =ik o2 3 2 171 2 4 344
2 L E—B8 |=3 18 &0 R =ik 4 1 197
3 85 &R ER & (2) - 3.1 .367
4 BEMT | Hxr D B FEER 2 1 .206
5 B AEE | =R R & 31 .207
6 L #K =0 —7R —on 3 171
7 AR ER —R ER &0 3 .109
8 KERK ER E2 2 3 3 277
9 LS a3k =3nm BR 2 1 167
10 KAEE =0 SHEAR = 3 295
11 Bi5 % R =an B 3 1 259
12 )iE #3h PuBk Uzt =ik 1 1 2 182
13 =% sz sz =2o 3 2 1 212
TOTAL[ 36 10 303 4 3 5| 247
%3 : BAT BOYS
I AFTE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 aiTE =3n R o BEFRE =%
2 a1 S ER BEk BEk 4 20 6/ 2 1 2 402
3 aiTE Ut ER r2 (1) ER AR ER (8)
4 E1E  |=dm PR (1) S GES 2 155 [ 3 1 1 450
5 aiTE BEIA iz =R A% i EX
6 ] A3 S FERR R 1 3 1 s
7 aiTE & (1) oo iR AN RE
8 HiTH = B ER 1 | 7.3 | 314
9 aiTE ER =ik =ik
10 E% sk PR =iR L L T [ [ ]
11 aiTE EIO =R &In
12| EnE - 2 B [ T T [ [T 1
13 EiE =R a0 bl TOTAL
8 4514 | 6 2 3 423




